Notation Scientifique (E)

Ecrivez chaque nombre ci-dessous en notation scientifique.

6 160 = 0,00605 =
0,0008608 = 3229 =
970 000 = 0,000001674 =
78040000 = 0,00088 =
0,00255 = 0,00000076 =
201 000 = 0,000858 =
759000000 = 52 300 =
0,00003897 = 29 540 =
1852 = 0,00075 =
82900000 = 0,0000087 =
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Notation Scientifique (E) Solutions

Ecrivez chaque nombre ci-dessous en notation scientifique.

6 160

0,0008608

970 000

78 040 000

0,00255

201000

759 000 000

0,00003897

1852

82900 000

6,16 x 10°

8,608 x 107*

9,7 x 10°

7,804 x 107

2,55 %1073

2,01 x 10°

7,59 x 108

3,897 X 107°

1,852 x 10°

8,29 x 107

0,00605

3229

0,000001674

0,00088

0,00000076

0,000858

52 300

29 540

0,00075

0,0000087

6,05 x 1073

3,229 x 107

1,674 x 107°

8,8x107*

7,6 X 1077

8,58 x 10~*

5,23 x 10*

2,954 x 10*

7,5 % 107*

8,7x107°
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